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Lesson M2 Part 2 ~ Calculating Surface Area of Right Triangular Prisms

o Developing:

1. The diagram shows the net of a right triangular prism.
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Calculate the area of the net.

Rectangle A has area > X A = /=
Rectangle B has area Ly X 2 = 8
Rectangle C has area 5 X & = [®)
Triangle D has area 5 X o) X - = b
Triangle E has area 3 X o) X H = b
Ara=_l  +_ B +_|O +_ b+ b =_3b

The area of the netis Dl m

4. Calculate the area of the net of a prism.

B A Bx 5 = 25
iy Sacm B: 5x\2 +2 =320
e CiBxi2 = Lo
— DS %12+ 2=30

E: S x13 = 5

2locn®



6. Sketch a net of this triangular prism.
What is its surface area?

A's: x 12
ekl o R = 0D
2
bottom: 25 x 30 = 750
left: 1S5 x 30 = 450
r‘|8h+= 20 x d0 = (OO
2100 cm*
9. Find the surface area of each triangular
prism.
a) Ve
oS¢
A bXB x 2 = L+8
) -
6.cm
boHom: & x 12 = 96k
\eft+ - bx |22 = T2

32 ot

8. Calculate the surface area of each prism.

2
boHom: 10 x 20 = 200

48

u

Prism D

let: b x 20 = |20

\I

r"lsh""o B % 20 /=o'
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¢ Proficient:

2. Calculate the surface area of each prism.

q

7m
As: 5———’;_5x2 =25
b Ix B = Sb
2 S5Sx® = 4HD
r: OxBD = "*D/\lolmz

9. Find the surface area of each triangular
prism.

b g
) A's: %6l 5 =gy
cam back:® Ax Il = A9
11.0m L 2 x I = 88
r B x 1N = 5_&_ .
4 gom 4.4 e
8.0 mm
s2nm bt G x25 = D0
T /6.0 mm L' L x25 =150
s.c;m r- bx25 =150

———
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13. How much metal is needed to build
this water trough?

! $
0 em As: GOx4YD

= x 2= 2400

120 om

soem ettt B5px 120 = 000
,—-.3\-*-. 50 X120 = 000

(ro +p) (H4OOCr~
+ \‘35

. Eidehdigg " please cOmple’re ProFic'\en-% questions first
8. Calculate the surface area of each prism.

A 2xTIx6.l = 12,7
Order the prisms from greatest to least 2
surface area. Show your work. A% Ixs5 = 105
7.7 cm’j
B 1x 2%x2.8 = 8.4

2
Ix dx 1o = 20

2% 3. 2x\0D= 64

PrismC Prism D

W] crn?
D 2x bxze = 4R
8 %X 20 = | O
10. The 3 rectangular faces of a triangular | \D X 20 = 200

prism have areas 30 cm?, 40 cm?, and ‘ 2B crot

50 cm?. The 2 triangular bases have a

combined area of 12 cm?, What are the z

dimensions of the triangular prism? 2 xle = Do

Explain your thinking using diagrams, 4 %12 = 4o
2%

numbers, and words. I© =50
a‘tvé ;Elocm



11. Suppose you want to construct a right
triangular prism 15 cm long with the
greatest surface area. Which of these
triangles should you choose for its base?
Explain your choice.

a)

|
20 cm Z:lb = 96 Cm* 7_
12 ¢cm BlbCro
Q?.erzo) %15 = 120Cm*
16 cm
b)
Bl B8 oo G
& Ba5 .68
(IBHB 1S .b) XIS = THcmt Cmn?
Q | Bx1s
17 cm ——2'-“ = EOcm*
8 cm bo sz
1 | (B +15 +17) x |5 = ©o0cmn?

15 cm

— il s best choice Hor 3rm+cs+ surface aren

IScan
cro
12. Assessment Focus A student said, . .
“If you double all the dimensions of a  Crea 2ere e Femn
triangular prism, you will double its e Bcre
surface area.” Is the student correct? 2% %Y _ 12, 2xbx8B = 4y
Use words, numbers, and diagrams to = Ca
explain your answer. 3IxX 26 b x4y = 24
4Yx2 =8 -
|f you doude all 4he - B x4 = 32
. Sx2 = 10 1o x4 = 4O
dimensions , you — e
wi il obuadrv ple its 36 )t

surface area.

L bis 2%x2 S0 bx8 = 2x3x2xY4

D is 2x4 3
4 Hirre greader.



16. Take It Further This triangle is one
base of a right triangular prism. What
should the length of the prism be so
its surface area is between 100 cm?
and 150 cm*? Show your work.

3cm

4cm

17. Take It Further |
a) Use the Pythagorean Theorem.
Find the height of a triangular base
of this prism.
b) What is the surface area of the
prism? Give your answer to the
nearest square centimetre.

2% L‘j = 12

\Oo—\z = of

\So - \56} SAnagF
reciangles.

O+t4144+5 =

BB 12= 7.3
s \2= 1.5

*\CrB—HN of P\’\Sﬂ\ =kloould
be etweer 7.3 ¢
.S Cm.

bx Is = 90O

73] 3714.5 ]
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